B7U ey F5IF ASIER(ARA)

<HBHFOEBES5>

IO =05947 25
OB (iR 7
62.5 -
375 TEsEHEI 0 I
0 Bl THEENUECHy bOIE -
=]
[=3]
w
=2
o, © 245 517 L 123 AMFAO=0W—1525 24.5
N ~ 145 6
=
i BYNRE T 52
105 AR TH
10 - 41 (732
o 3
Ak 7 L "
M || | | = 2w - i
‘= T m[:[— = % . F~ o
=] T ‘ OE ) A
E * I — w0 2, ! CQ .
g * anill o bl 2] % ]
8 S| S RBNFE
= v ) 2
g i J ]
- - i : o S
fry 24 L 45
rn -~ DW 185
—— - DW=H#)FHO+1525 15
] 35 DW DW=W/2+46.5
* B (S LA M0 OBE I HHEDES 2 DHHRIC S £ &L, 25 W=20w—93
W=2xE#EO+212
BEARTiER
XEO5|F
WIEH: 196 245
| Ww)  |1.951(1.022)[2.451(1.272)
g(;m,f HuhEO 869.5 11195
HFFF 20
Bz - 2,033(2,016)
H(DH) F7 70— X - 20332.029)
@5 JILoO—X{thk
59752 LTRSS ARIE
: BHIZ THEDIETHY bOI &
5.5 245 315 L 128 AIREIO=0W—1525 24.5
S 14.5 6
S g -
BYURHA T 52
o ARBR - T#:
(7532
145 4
28 43 [ ™
| 425 973078 125 \N{ “
B . o N
-<F
< ) =7
1L1_ —l | S [=2) o
s T main NN~
T =iy i LENTT
| AN ©
& | 8 [a) ] ) %
@ [T} :
J B / o =] N
. ~
| i % 24 d 45
=l < DW 185
“El“ DW=ARO+1525 15
ié 35 DW DW=W/2+46.5
: vFL = W=2DW-93

25

W=2xE#FEO+212



